ASSEMBLY INSTRUCTIONS

™ DISPLAYS2GO

SMTMSF68C - Tabletop Market Stall Frame
SMTMSCG6BL - Tabletop Market Stall Canopy 6' Blue
SMTMSCS8BL - Tabletop Market Stall Canopy 8' Blue

.
% D

< C

z

A\

Parts List

A1 Base Pole - Back
B1 Base Pole - Back
C1 Base Pole - Back
Cross Pole
Cross Pole
Cross Pole
Cross Pole
Cross Pole

Leg Post - Back
Base Pole - Side
Leg Post - Front
Rafter Pole
M6x35 screw
M6x16 screw
Allen key

Fabric Canopy
Edge Clamp

[®)
mAAc—D‘ﬁMMMMAAwMMAAAQ

ZZIr X~ ITOMmMmMOOTm>

Estimated assembly time: approximately 15-30 mins.

= FX\\Q% X

o X |
% K
c1
. ~ ~F

Vv21.03

2 people are required

Scan QR code to visit
the product page:

[=] 24 [s]
[=]

10of3



ASSEMBLY INSTRUCTIONS r\| DISPLAYS2GO

Remove all parts from the carrying bag and lay them out on the floor. Organize your parts against the parts list.

STEP 1.
If use 8’ canopy, connect Base Poles (A1+C1+B1) by using M6X16 Screws (K) and Allen Key (L). See Detail O. Connect
Cross Poles (A+C+B, D+C+E) using remaining M6X16 screws the same way.

If use 6’ canopy, connect Base Poles (A1+B1) by using M6X16 Screws (K) and Allen Key (L). Connect Cross Poles (A+B,
D+E) using remaining M6X16 screws the same way.

K D -
Cl &
O A X -
-
ii Al \ E
P S =z
>

Detail O

»

STEP 2.

Connect 1 Leg Post (F) to each side of the assembled base pole (A1+B1+C1) using M6X35 Screws (J) and Allen Key (L).
See Detail P. Use shorter base pole assembly (A1+B1) for 6’ canopy.

Connect Base Pole (G), Front Leg Pole (H) and Rafter Pole (I) with Leg Post (F) together by using M6X35 Screws (J) and
Allen Key (L) as shown.

Repeat the step to assemble the other side frame.

I
-8 F_
~H e Zz .
m
1
G

A\}
P
—t

=D

Detail P

A\

20f3



ASSEMBLY INSTRUCTIONS r\| DISPLAYS2GO

STEP 3.
Connect the top pole assemblies (A+C+B, D+C+E) to the top of side frames using M6X35 Screws (J) and Allen Key (L) as
shown below. Use shorter top pole assemblies (A+B, D+E) for 6’ canopy.

STEP 4.

Identify the front and back side of the canopy. Attach the Canopy (M) to the top of the frame by fastening the hook and loop
straps located at each corner and at the middle of cross poles.

Carefully move the assembled frame onto your tabletop. Securely fix the base poles to the table with the Edge Clamps (N),
see Detail Q. The assembly is finished.

Detail Q

If you have any questions regarding our products, please visit us at www.displays2go.com or contact D2G customer service 844-221-3388.
30of3




